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= 14,527,056 13,251,691 1,275,365
s 260,000 260,000 0
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= 540,979 540,979 0
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i 13,160,200 13,183,342 A23,142
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FRI0ISAIE 2l 1,061,321 1,393, 121 A 331,800
AMSH =Xs2 HE 533,114 803,114 A270,000
401 AlEHIL 20y 533,114 803,114 A270,000
01 Al&H| 515,023 785,023 A 270,000
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401 A &HIYL 2048 0 61,800 261,800
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0.2 At &3IUl 0 & 0 20,550 220,550
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i 1,794,922 1,905,346 A 110,424
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= 840,234 809,459 30,775
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< 278,436 370,500 92,064
2 278,436 370,500 ~92,064
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HOHQIMEAIL JsSEY 137,020 161,200 24,180
= 112,840 80,600 32,240
[ 0 40,300 £40,300
z 24,180 40,300 ~16,120
307 QI210|H 137,020 161,200 24,180
= 112,840 80,600 32,240




A FE=X 10

B2 ZoHel =X S(AESX/HLAHSKY)

=l FHASXAIENE

= CSRI(BH) - HRAMY - BS arey pJE-T {imE=Eh
S 0 40,300 240,300
= 24,180 40,300 216,120
137,020 161,200 224,180

IEEEINETEEEN

137,020,000 137,020 161,200 A24,180
= 112,840 80,600 32,240
< 0 40,300 240,300
= 24,180 40,300 A 16,120
ZOH 576,874 681,757 A~ 104,883
= 362,962 436,380 NT3,418
< 76,871 87,879 A 11,008
= 137,041 157,498 A20,457
&0 435,067 559, 150 A 124,083
= 304,547 391,405 86,858
S 43,507 55,915 A 12,408
= 87,013 111,830 AN24,817
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01 AtaIEZ 435,067 559, 150 A 124,083
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= 2,460,993 1,374,322 ,086,671
< 2,638,669 2,405,811 232,858
= 1,742,038 1,712,038 30,000
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= 32,022 29,556 2,466
i 157,128 146,364 10,764
01 MBIEEH=0l= 189,150 175,920 13,230
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= 52,184 50, 160 2,024
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= 1,110 1,158 A48
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